Joe Average

To work out the mean (average) of a group of measurements add all the measurements together. 
This total is the sum. Divide the sum by the number of the measurements made and you will have the
mean.
Example.

	Body part measured
	Person 1
	Person 2
	Person 3
	Person 4
	Total of all measurements
	Average measurement

(Total divided by 4)

	Leg
	12cm
	15cm
	14cm
	12cm
	53cm
	13.25cm


Make a group of four and find the average measurements of these body parts. 

Share the responsibility of measuring and recording between all members of the group. 

Choose a suitable unit of measurement.

	Body part measured
	Person 1
	Person 2
	Person 3
	Person 4
	Total of all measurements
	Average measurement

(Total divided by 4)
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